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Instructions : Answer all questions in Sanskrit, unless instructions are given otherwise.
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There are four sections in this question paper.

gue: % AUFSAN - SFeIYTH_ (ST ~ AL ) 15 3T
SECTION A (Unseen Reading Comprehension)

Tre: @ H&Rde TAHSRAETY (H&hd | TAHS @) 15 3T

SECTION B (Writing Skills in Sanskrit)

gue: T TSI - ST HShadlecas I=g: = 40+10=50 3TGT:

(dfedier - STaeNyd Td H&hd e IR=a)

SECTION C (Reading Comprehension and Introduction to History of

Sanskrit Literature)

gus: o BRISAGN: (BT TIH_ HAAGR) 20 TG
SECTION D (Metres and Figures of Speech)



WUE: - & (SECTION - A)
JTUFSATIT - STAINLTH
UFSATYT - TS

Unseen Reading Comprehension 15 3T

Nes e N Y

sefafady sT{=segd afecn IS oM HEhdRd

FAfafad gl STssal &l gt QT T Ui & ST G&hd d T :
Read the following two passages and answer the given questions in Sanskrit :

(F) Worm: Tea:

R Fd S G0 Td Y@ ooy Tedid | qee 319 { 9 T
AA | HH Fea AEg ¥ S wyafd a9 Ta gaifor st afe wifa s qfd
T Sftad giad vafd | e S AYHidl 9 iy gEEyE davsd | 31d
TF HIsT 5 GET 7 g1 ST S 9e g "I |

Q9T

(31) THIGATA | 1,x2=1

T I H S ST |
Answer in one word.
() S R gE dA¥d ?

(i) T: oh: WA ?

3 P.T.O.
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(&) quieTRad | 2

o a1 | I T

Answer in a complete sentence.

I S GEEEA FY AH=d ?
(@) T IO | Vix4=2
Y I SIS |

Answer as directed.

G) ‘et e feamEn wdue fe?

() ‘T o= faamag feq?

(i) ‘Rrifor’ sre ool foRe ?

(v) ‘T Saq o 7% 30 e ggE ?
(@) fgeta: ar=se:

Tedl S IR - 1 STRHT Sa: Hd HRUMN, FIE 9 H9R: YgWl
Tefd | | T8 Heal W2 gl U0 9 e Hfim=d: Wk |/ el | A gdfe:
Aty QU Wl TR T O YTE 9 S, 9 R e g

vat<1, 9 = feeaf<al’ seda = I9: SO 98 WaH 1 TR & 3
fed af gaaa=9: 999 7 99 d%: Yo 318 Jfgan ga=sii |’

L EaLE
(31) ThYGHIT | 1x2=2
T I€ H I Y|
Answer in one word.
() ‘g o= & A ?
() ‘I wYF=:’ o ‘ar efd gAAHue R Y ?
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()

(%)

(%)

iR | 2

quf geR § IW T

Answer in a complete sentence.

& 1 a=qeen: waf=a?

FYTASIA | 1x4=4
e I ST |

Answer as directed.

G) ‘oA’ sfa framm: wgus fee?

() ‘rRuM’ e fagvul fore ?

(i) ‘3T’ A faenug fohH ?

Gv) ‘wfa fegaf<’ o= ‘ufa’ sfa gdamue w38 ggFm ?

T eSS Fd U I H&hdd faad | 2

39 TI=s8 o foq Suge i H&ha | fafaw |

Write a suitable title for this passage in Sanskrit.

5 P.T.O.
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Qus: - @ (SECTION - B)

HEhHdT EATHRAET

HEhd U AT AE
Writing Skills in Sanskrit 15 3TgT:
AoS[uId: Sfeaegar] et Afafedl sl e 14: fored - 1x10=10

Aol 9 3fed dohd de Fefafad e 1 quieRe q: fafe .

Complete and rewrite the following story, with the help of the words given in
the box below :

<h T

SFUIYRA Teh! HETCHT STSTId-Heor: | 9§ e gra: e o+ w=sfd =)
Uehal Shivad a8 STg=sd - ' 9o, faura: o+ = T=sfq!”’ #afil: IaRq - ‘=18
WA _ (@) TSI TN () HHTERYS TR Gi) | gHi
Gv) e Weh: _ (v) TH_ (vi)  Yeod 9 ‘feHse _ (vii)  Iq
I O _ (viii) Q1 SARMEI_ (x) 1" Hefigon: seeq - e
faeyes: T (x) % @sfy a9 i wd s

HSTHT

qoslld, ardH, faseysie:, qefned, ami, ¥, T=sfd, IurTesd, T9afd, Tesdq

HesTuTd: gei T ‘ol sfa fawem sAfugrca aser st §&hd fored |
1x5=5

oo ¥ U5 o ‘Al 39 favg W uie 9 gepa o fafau)

Write five sentences in Sanskrit describing ‘Pen’ with the help of the words

given in the box below.

HesTa

~

@1, dleHlfh:, hIfea™:, sfered, fogy:, IesM, T, qeq, T, YA, i,

Sed, (o1, TosaEH, RrShalsh, faafd, Aefun




Qus: - T (SECTION - ©)
iSATeT-STaarer T HehauTieas uRked: =
gfadarsT-raeied Ua Wik ATfee U=
Reading Comprehension and Introduction to

History of Sanskrit Literature 40+10=50 3TgT:

4. srefafed o=, T, e = ufed ey SEhdHIRRd ¢

frefafaa 1=, T T A i 9k fou MU g9l & IR H&hd § T

Read the following verse, prose, poetry and drama passages and answer the
given questions in Sanskrit :

(h) U=

oo

“agErcgss Rl faqd 9= YAresTE,

SEiE: 9 vafd, guas 9@R @ |

o0 Yiehfd e fcqUSshHEHEH,

~

o =remaSa 9 IHedgdie am: |1

QI
(31) ThTQARA | 1x2=1
Th 9g H S i
Answer in one word.
() <rEftE: : wefd ?
(i) 319l hIA A ?

49 7 P.T.O.
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(&) quiereRad | 2

o g H I

Answer in a complete sentence.
319el: T iR ?
(F) TR | 1x2=2
RRIECH IS IS 1
Answer as directed.

() ‘g o= &: A ?

() ‘o’ e focmue fore?
(@) e
"9 faard gaw@ci a9 wgquskaa | qq: fafeafirda w9

N

HULSY: HIA: | Haiy TGN THEA | ST e e aered THRd: | aiErsee

et S s wgadik Uftd: | |sf gdi T Trgsfese =R
IECIRINCEICI

qI-T:
(31) THISARA | 1,x2=1

Teh I H S ST |

Answer in one word.
G Tafeafyw: &: swf@: ?
(i) H AEEe SR Ufa: ?
(&) quiereR—Ia | p)

of g H IR S

Answer in a complete sentence.

I F GUTEAT: ?



(|) I | 1x2=2
I IR ST
Answer as directed.
G ‘w9 ?
() ‘oI’ ot faamue fohe ?

() eaer:
RSEETEE (fer frefvdd) ot frmedaq ) w1 7 SaRferafy sty sedar
STNYT] Tgq T RIARIh: |
NEHE (ufoea w@man) sifammaaa: wHifaam s@Ef 9.

Fwemfyaeias ? (fafa) 1 Rawgusr sfd gewr: gad
(GfaTaq 3ugd) T 9 e R yumHyEia: |

S-SR — AT | ST, T |
HEET - s | fe) a1
oA
(1) THYSHI | 15x2=1
T % H IW AT

Answer 1n one word.

G ‘= T & A ?

(i) ‘gwrRM’ e faenHug fo ?

(&) quieTR—Ad | 2

o g H I

Answer in a complete sentence.

od; Wa foh fa=aafd ?

9 P.T.O.
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(F) TATHEIRA |
JYTCY I ST |

Answer as directed.
G ‘e st facimus foem ?
G) ‘o' 3 geAmeE wer: gy ?

Sreare Herfaan fored |

yieg) 1 et ¥ faem = fafaw)

Match the words with their meanings and rewrite the same.
el 37

(1) Fad @ g

(&) sferT=sta (i) MM

(9) v (iii) @9

(3) 39qd (iv) SIE

T@IgAue S YeAHIT Fed -

Y@iferd &1 o SR T YA HIfST -

Frame questions on the basis of the underlined words :
G & e wom)

(i) pel=IerE HHIM

(i) T ° GG |

Gv) uftgoiy 2y gfafed=d |

10

1x2=2

Vex4=2

1x4=4
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SYfafaquTaTeEr: e Aesuueaeradl $%d 1%4x12=6
frefafed St wenel § wesw § fou 7 v K1 e | Reaweri 1 qfd
ﬁﬁnz :

Fill in the blanks in the following two explanations with the help of the words

given in the box :

o 0 [

(31) ‘gfa sAfqafemfy Soemd TEuee: |

uTaTef:
JA ()RR Gi)  SOH (i) QUM 9% Gv)  _m:
(v)  SEH __ (vi)  gOeRAfd|
() ‘ STREAI qRAl WM Jeaguie JIgyd I’
uTaTef:
F31 Forae: WReE T T=sfd (i) IO (i) qeaM _ (iid)
[WAd ___Gv) T YR __(v)  HAA __ (vi)  HS: |
HTHT

FATFYRN:, SThEHT, I, TR, SHRUd, Ty, 3=, Frafy, duvgfs:,
YRR, T, a9 |

AYifafaddl: yeeRdr: =@ Reaeamyfd e %6x6=3
frefafaa g vl & =l | e &t gfd i -

Fill in the blanks in the following prose - order renderings of the two

verses .
(27) il et T A1) ARsehee Sl = T |
Tgfeadl P =l o= s 7 feaw g

A
G) FRTATEE __G) FTaTRed =Tl _ G635 YA
Y, I 99 s . @ T B

11 P.T.O.
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(9) 7 forfoastt Famm: e @rIuRH |
aoe ferufy g = fe o= = s 10

3

fRfeaq af@a __ ) gemae: _ G) 4 fe o= g 59 aq =

(i) w= |

TSI 3T |
FYTTRY IW T

Answer as directed.

(31) *que fopamae = o |

shdl Td fsramae gfw)

Select the subject and the verb.

@) fagr ga9 emed |

(i) = = T A
ERENEEEERERS

fergrorag < |

Select the adjective.

() FIEI IeY asHl: Gelthdrd |

(i) Trdenfu wesmueta gfg: |

o (o

(7)) refafEdrg sl (@ifgade-mde Sl Jge ?

frefafaa dfeaal § @ifea g g fog & fow ggaa & 2

In the following lines for whom the underlines pronouns are used ?

G) A HemiEeRRioT Jiem |

(i) ST ST R TeE: |

12

Vax4=2

1x2=2

1x2=2
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(%)

()

(31)

()

Afafgaug e ‘qsay’ qun ‘ yaEe: ) sfd ueEl: gamee U fan
fored - 1x2=2

r o o 0 ha\d

Hfafaa dfaqal 9 § ‘gay’ don ' JaEs’ 31 961 & gumEEE a8 g1 a6
W’F@E:

Select and write the synonyms of daughter-in-law and horrible from the

following lines :
() SAYROTHYIHE Tl deHibg: |
() W = YAl TRy |

: h HUAL ? Vax4=2
[ ol %e @ e?

Who is saying to whom ?

G) dfgad Tsd T e

(i) T W WA A T TR

Nes o N

FAYfAfgd@R™ HEMY ThET: =R W foaad 1x5=5

o oo ha\

frefafad aeenl &t el e W &1 9M fafe

Write the name of any one work of each of the following poets :

qaYfd:, TSSO, SAH:, AYTAIUME, HH: |

ANfAfEd="am a@er i A faed : 1x5=5

frefafad el & d@sl & W fafeu .

Write the names of the authors of the following works :

qreTuiteR=, ifaeraes, FAREYaH, feranad, aqsagH: |

13 P.T.O.
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©usg - ¥ (SECTION - D)
ng’mz
T2 T IEN

Metres and Figures of Speech

(37) I A |

()

gel % I ST |

Answer the questions.

() HAR: 3T I T ?

i) ‘@’ o g’ wf e e a2
AATGA AT qd

Freferfiaa TR #1 q0f FR -

Complete the following definitions :

()  SUEaS SISl

(i) T TR &
o S |
(iii) ST g IS
Gv) §aRs _ wqwm

14

10+10=20 3TT:

1x2=2

1x4=4



12. () SR RGNS HERU @& foed -
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N

(7)) fafedugs: f& f& s=<:?

(<)

(9) hecHeRe AAAGRE ALHRR 9 faed :

N

o oo A hn\4

frefafaa dfeaal § fH-%F 91 < ¢ 2

What is the metre in the following lines ?

N o

() UERAd JeEd feas

(i) ISt forami @mT Ta fe a0 |
TR B<d: 390 foagd :

~

Teh I< I qev fafan :

Write the example of any one of the following metres :

o N

SICEINES-CEIN

frt TR IR &1 FierR s fafau :

Write an example and definition of any one figures of speech :

3TIIE:, IHHH |

HId Toh AYTATGR h1 A0 To 3¢ foAf@T .

Define and illustrate any one of the figures of speech.

AR, I |

15

1x2=2

P.T.O.
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(9) sreicaug s daagr ffded

(%)

<

frefefad dfeal # sTergr s i

Indicate the figures of speech in the following lines :

() g T foqeaesiel T[oredn: waHe 9He: |

(i) &TfeTd 3o IUITHA T WelTHISHIH |

SHCAIRITNGE [T :

Freffaa S TRATE F1 T FHET

Complete the following definitions of the two figures of speech :
() ®IH WG |

(i) WY ar faemo

16

1x2=2

1x2=2



